Quiz 5

Name:

Total = 10 marks
1. (2 marks) Explain why the following cannot be an electromagnetic wave in vacuum
ie Show it does not satisfy a Maxwell equatlon
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2. (4 marks) The electric field of an electrémagnetic wave is given by the following
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) Explain why this wave is called circularly polarized.
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b) Find an expression for the magnetic field.
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. (4 marks) Unpolarized light passes first through a linear polatizer and afterwards through
a quarter waveplate as shown below. The linear polarizer transmits light aligned along
the x direction. The quarter waveplate introduces a 90° phase shift between light
polarized along the x” and y’ directions where the angle between the x and x’ directions is
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a) What is the light polarization at locations A and B.
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b) Repeat the question if the linear polarizer and quarter waveplate are interchanged?
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